PRACOVNÍ LIST
Sčítání celých čísel
1. (-7) +(-6)=				(-26)+(-31)=
(-9)+(-10)=				(-50)+(-30)=
(-8)+(-4)=				(-40)+(-60)=
(-5)+(-8)=				(-105)+(-20)=
(-14)+(-15)=				(-47)+(-53)=
(-18)+(-21)=				(-120)+(-62)=
(-30)+(-23)=				(-230)+(-420)=
(-31)+(-46)=				(-620)+(-510)=
(-25)+(-32)=				(-76)+(-48)=
(-51)+(-46)=				(-670)+(-280)=



2. [bookmark: _GoBack]8 + (-4)=				(-57) +30 =
(-10) + 7=				54 + (-20) =
12 + (-16)=				-80 + 60 =
(-19) + 7 =				100 + (-55) =
-14 + 7 =				-55 + 60 =
9 + (-11) =				-250 + 300 =
15 + (-8) =				420 + (-500) =
(-20) + 15 =				-550 + 320 =
30 + (-10) =				670 + (-410) =
12 + (-12) =				-810 + 520 =
-41 + 8 =				-1000 + 1000 =
7 + (-34) =				-810 + 120 =
(-36) + 16 =				730 + (-420) =
23 + (-50) =				222 + (-300) =
-17 + 17 =				(-780) + 290 =
